
Subject: Re: Tutorial Part 4 - Figure 6
Posted by AJM on Tue, 27 Dec 2011 18:03:35 GMT
View Forum Message <> Reply to Message

Figure 6 shows the same record in both the SNR (upper) and JNR (lower) areas as both of them
are reading the database with the same WHERE clause:
WHERE node_id='1'

When you make the modifications shown in Modify subclass x_tree_node_jnr this will change the
JNR class to produce the following WHERE node_id_snr-='1'

This is not very clear, so I shall amend the tutorial.
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